fitsk4 : —FHFED TE

—EHETHEOEL .

a— K| #5 | Fis n 3 , : o . 2 5 Max | Min
LS1 L8 HH | 4.9]4.8]4.6|4.5]4.4]4.3[4.2|4.1]4.1]4.9]4.1
LS2 L2 e [ 4.3 4.3 (4.2 4.2]4.2(4.24.2(4.2 4 |43 4
LS3 5 HH | 4.4(4.3]4.3[4.3[4.3]4.3[4.3[4.2|4.2|4.4]|4.2
L54 B HHE | 4.74.74.74.74.5|4.5|4.5|4.4|4.3]4.7]4.3
LS5 B HH | 4.9|4.8|4.6|4.4]4.2| 4 [3.8]3.6]3.5[4.9]3.5
WS1 B #4H 4.9(4.9]4.9(4.9]4.9]4.9[4.9]4.9]4.9]4.9]|4.9
Ws2 B e [ 4.5 | 4.7(4.6|4.4] 43424 141[4.2]4.7]4.1
Ws3 B HAE [4.914.9(4.94.9]4.8[4.7|4.6[4.3 4 |49 4
XS1 5 HHE 4.9 4.8]4.84.74.74.74.74.7]4.7]4.9]|4.7
XS2 5 HH | 4.3(4.3|4.4(4.4|4.4(4.3[4.3[4.3[4.3[4.4|4.3
% XS3 B HAE 4.9 4.8[4.4] 4 [3.7(3.3]12.9[2.4]1.9]4.9]1.9
2 [ QY1 Vs e 4.6 4.7(4.8|14.6|4.5[4.6|4.5|4.5[4.4]4.8[4.4
QY2 Vs e 4.8 4.9(4.714.3]3.9[3.4]2.8[2.3[1.9]4.9]1.9
QY3 Vs HAE [ 4.504.9(4.714.3]3.8[3.2]2.5|] 2 |1.5]4.9]1.5
QY4 U°s e [ 4.814.9(4.84.7]4.7(4.8]14.9[4.8[4.7]4.9]4.7
QY5 s o 14.9]14.9(4.914.9[4.9(4.9]4.8[4.9(4.9]4.9]/4.8
LD1 LS i [4.9]4.9]4.4(3.512.5/1.8]1.2]0.7]0.4]4.9(0.4
LD2 5 e [4.9]4.9(4.814.8]4.8[4.8|4.8[4.8[4.8]4.9]4.8
HL1 b HHE |4.64.74.7]4.6(4.4]4.34.1] 4 [3.8]4.7(3.8
HL2 5 e 3.8]3.9(3.913.8[3.7[3.7]3.6[3.5[3.5]3.9][3.5
CH1 b HHE | 4.44.414.34.3(4.2]4.24.2]4.1(3.9]4.4(3.9
CH2 5 e [4.904.9(4.94.8|4.7(4.7]4.6|4.5[4.5]4.9]4.5
LS1 LS #a [ 1.9]1.9]1.8]1.7]1.6|1.4|1.1]0.9]0.7[1.9]0.7
LS2 5 e [ 1.8]1.9f2.12.1]1.9f1.5] 1 [0.5[0.3]2.1]0.3
LS3 b #FHE 17119 1.9]1.8[1.7]1.4|1.2]0.8[0.6]1.9[0.6
LS4 b A 10.8 l.1|1.2]1.1]0.9(0.5]0.2[0.1]1.2]0.1
LSh 5 #4105 1.5] 2 |1.6[1.2]0.8/0.5]0.2(0.2] 2 [0.2
WS1 5 #FHE |11 1.2]1.3]1.2]10.9]0.6[0.4]0.2[0.2]1.3[0.2
WS2 5 maE [ 1.3 1.6f1.8]1.7]1.4[1.1]0.7]0.3[0.1]1.8]0.1
WS3 5 maE [ 1.8]2.712.92.6]2.2[1.7]1.2][0.6[0.3]2.9]0.3
XS1 5 HHE | 1.1]1.8]2.4]12.3[1.8]1.3[0.9]0.6[0.2]2.4[0.2
XS2 5 EAE 2 [2.3]2.6[2.6]2.2[1.7]1.2][0.6]0.1]2.6]0.1
% XS3 5 HAE 1 |1.6e]1.8[1.6]1.4|1.1]0.7]0.4[0.2]1.8]0.2
s [ OVl e H4E 2 |2.5(2.6]2.4] 2 [1.5] 1 |0.7(0.4]2.6]0.4
QY2 s maE [ 1.7]2.2) 3 |3.7]3.5[2.9]2.4[1.9[1.5]3.7[1.5
QY3 e H4E 1 |2.1]29(2.8]2.4]1.9[1.3]0.8[0.1[2.9]0.1
QY4 e HaE | 1.8 2 |1.8[1.5]1.2]09(0.6]0.4] 2 [0.4
QY5 58 4 10.3]0.71.2]1.71.7]1.5]0.9[0.1]0.1[1.7]0.1
LD1 S #aE [ 1.3]2.1]3.2]3.503.1]2.2]1.3]/0.6[0.3[3.5][0.3
LD2 5 maE [ 1.9]2.4(2.812.6]2.1[1.6] 1 [0.6[0.4]2.8[0.4
HL1 5 EAF 1 [1.3]1.8]1.8]1.5]1.3| 1 |0.6[0.2]1.8[0.2
HL2 5 maE [1.9]2.9(2.812.6]2.3[1.9]1.5] 1 [0.3]2.9]0.3
CH1 5 #HE | 1.2]2.3] 3 ]2.9(2.4]1.9(1.2]0.6[0.1] 3 [0.1
CH2 7 e | 1.4]2.3] 3 3 |2.712.311.8|1.4|1.2| 3 [1.2
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fitsk4 : —FHFED TE

. —EHETHEOELL .
L I R e B B v B e e S R
LS1 L8 HHE [ 2.4]2.6[2.8] 3 [3.3[3.4(3.7(3.9| 4 4 | 2.4
LS2 5 HAE 2 12.312.6| 3 |3.5| 4 [45[4.8[49[49] 2
LS3 5 HH [3.6]3.8| 4 |4.2]4.4|4.5[4.7]4.8]4.9]4.9]3.6
L54 B HHE | 4.9(4.74.44.1| 4 [3.9]4.1|4.4|4.5]4.9]3.9
LS5 5 AR 4 [3.6]3.5(3.7]3.8| 4 |4.3]|4.6|4.6]|4.6[3.5
WS1 B #H 2.8 3 [3.5]3.7[3.9|4.1|4.1]4.2|4.2]4.2]2.8
Ws2 B HAE 4.6 4.7(4.7|14.5]4.5[4.6|4.8[4.9[4.9]4.9]4.5
Ws3 B HAE 4.9 4.7(4.714.6|45(4.5]|4.6[4.7)4.6]4.9]4.5
XS1 B AR 4 [3.8]3.5(3.3]3.2[3.5/3.8] 4 [43]4.3([3.2
XS2 5 #4H 13.9(3.9(3.9| 4 |4.2]4.4]4.6[4.8]4.9]4.9]3.9

| XS3 B HAR 3 [3.4[3.5]3.6[3.8[3.9|41(42|4.1]42]| 3
= | QY1 e e 3.6 4 [4.64.9]4.7( 4 3 |2.1|1.5]14.9]1.5
QY2 Vs e [ 2.3]2.812.9]3.2]3.8[3.9]3.2[2.41.7]3.9]1.7
QY3 Vs HaE [ 2.8] 3 3 13239322416 1 [3.9] 1
QY4 U°s e [ 3.5 3.1(3.5]4.3]4.2(3.2]2.4]1.4(0.4]4.3[0.4
QY5 # B 3 |3.2[3.4]3.8[42[4.2]3.8[2.9[2.2]4.2]2.2
LD1 LS #AE [3.7]3.5(3.33.413.7| 4 |4.4]4.8[4.9[4.9]3.3
LD2 5 e [ 2.3]2.4(2.612.9(3.3[3.63.9[41[4.1]4.1]2.3
HL1 b HHE 1 2.6]2.4]2.6]3.13.6]4.2[4.5]|4.8[4.9]4.9]2.4
HL2 5 e 0.8 1.2 1.5]1.8]2.3[2.8]3.4| 4 [4.2]4.2]0.8
CH1 b HHE 1 2.5]12.9(3.1]3.4(3.6| 4 [43]4.8[49]4.9(2.5
CH2 5 maE 1.6 2 [2.8]3.4] 4 [4.3]4.5[4.5[4.5|4.5][1.6
LS1 LS i [2.6]2.5]2.1]1.8]1.4]1.1]0.6[0.2[0.2[2.6]0.2
LS2 5 e [ 1.4 13011 1 ]o.7(0.6]0.4]0.2(0.1]1.4]0.1
LS3 b EAE 1 10.9]10.8]0.6[0.4]0.3[0.2]0.1{0.1] 1 [o0.1
LS4 5 EHE [2.1] 2 2 |1.8(1.5]1.1[0.6]0.3[0.2]2.1(0.2
LS5 5 4 3.7]13.2]2.5]1.8]11.2]0.8]0.4[0.2]0.1[3.7]0.1
WS1 5 EAE 3 3 |2.8]2.6[23] 2 [1.6]1.3[1.1] 3 [1.1
WS2 5 maE [ 2.9]2.8(2.712.4]1.9[1.5] 1 [0.6[0.4]2.9[0.4
WS3 5 4 [3.5]03.5(3.412.9]2.2[1.5]10.9[04)0.1]3.5]0.1
XS1 5 A 13.1]2.9)2.6]2.1[1.6]1.1[0.6]0.3[0.1]3.1][0.1
XS2 5 HHE 13.6(3.503.312.9(2.4]1.9[1.4] 1 [0.9]3.6[0.9
x| XS3 P maE (2.1 2.1 2 | 1.7 1.4 1 Jo.e|lo.3l0.1]2.1]0.1
| Qvl s HAE | 4.4 4.2]3.713.1]2.4]1.8[1.2[0.7[0.1[4.4]0.1
QY2 e maE | 4 | 4 [3.5] 3 |2.4f1.7] 1 o401 4 |o0.1
QY3 e maE | 4 | 4137322723 1.7|1.2]l0.7]41]0.7
QY4 s e 4.8 4.5 4 |3.2]2.4(1.8]1.1]0.6[0.2]4.8[0.2
QY5 58 A 13.4]3.33.1]2.712.2]1.7]11.2[0.7]10.4(3.4]0.4
LD1 S B [ 4.4]4.2(3.6(2.9]2.1]1.4]0.9]0.4]0.1|4.4]0.1
LD2 5 maE 3.4 3 [2.6]2.1]1.50 1 Jo.6|o0.2]0.1]3.4]0.1
HL1 5 H4HE 13.5(3.43.2]2.72.2]1.5[0.8]0.5[0.4]3.5/[0.4
HL2 5 maE 4.8 4.9(4.7] 4 | 3 [1.8]0.8]0.2[0.1]4.9]0.1
CH1 5 HHE | 4.4014.313.9]3.3[2.5]1.8] 1 |0.6[0.3]4.4(0.3
CH2 5 maE 3.4 3 [2.6]2.1]1.50 1 Jo.6e]l0.2]0.1]3.4]0.1
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